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Er it ,:f ™ oo with buckers
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Ta the following question four probable
answers have been given. Sefect the
miost  appropriate  alternative ge the
answer :

You have gone to enjoy 5 Diwali Mela
orgamised by a club, Suddenly you come
across a lost child crying desperately.
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(A) ask him to stop erying and wail
Patieritly for his parents,

ask the chitd to find hig parents. r
Reglect and way away,

comact with the clyp authorities

4od make an announcement for the
parentg,
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You have been asked 10 give an
explanation for not attending an
important  official  meeting.  Your
imtrediate boss who has not informed
¥you aboul the meeting s mow putting
pressure on you not to place an
allegation against himher, You would
{A) admit your fault w save the
situation.
seek an appointment with the top
boss W0 explain the situation,
;;:;ul & written reply explatning the
1.

put  the responsibility on  the
co-otdinator of the meeting for not
informing.

(B)
()
(D)

A, B, C,D E Fand G are 7 friends

sitting in a single row facing North.

1. [is to the immediate right of C.

2. Eand A are neighbours of F,

3. B is w the immediate left of C and
oh second place from left most

end.
4. A isat the nght most end.
What is the position of E 7

(A} 5™ from right (B) 5% from lefl
(€) 2™ fromleft (D) 2* from right
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273 =i aiE i A fifedi 3 & 3 2 ﬁ@iﬁﬁéﬁﬁfﬂmh N
SR " E | : t the ahemal ¥ gl g
fafmF2 § | P, H®H TR 2 fmw ‘_“ﬁf' i 1her;: out of the five alternative figures
g F | AL LF W KT RME, which when fitted into each other would
FuFAHE U HR gatd] 3 & f form a complete square.
ﬁwmﬁm?u.a:{z‘wr&a?m:ﬁn(;: [llﬂ Q
PR 1Y © 5
3 A W ; -= 1 2 3 4
et G A = W F RS 7 | @ 3,458 ® 2.3.4
Study the informauion carefully and 'l 0C) 123 (D) 2.4,5
answer the question given below 4 5
Eight persons 4re in three generations of :BL i‘jﬂﬁl{ﬂl{‘]ﬁ y f%?ﬂfg ﬂ%
family 2nd two marmed couple. P is the ! o iﬁl el Ffﬁﬁmnméa‘rm
son-ir-law of H wko has three chiidren. | WW% 3 Pveind | 8 SR
M is nephew of L. W is father of K. who ; ?ﬁ?ﬂl’ o ¥ t ' {P‘,f £
is sister-in-law of U. U is only daughter } ik Gaﬁaﬁ;%ﬁ ETUY o as?
of H, who is the father of N. L is% XY waft §7 %:J
anmamied. N and K den't have any ; e
child. i L ysmzpwe=isixX@Iwidl oy o
Who among the following is son-in-law . R® 7 X & fEw v & B w
of W7 rﬁ PR
(A) N (B) P {4) mA DA ‘
© U D M i W %m? 1 7ate & s 1 e wain )
; |
o 1
9. oy i W g gl e | (O | 75en vty & WAt 11 sk 7ol /
e oy fw () A i | g
FM P D) AdlsRT AR
i The question below consists of 2

Select g suiwble figure from the answer
figures that would replace the guestion |

mark 7).

e sfewt/ Problem Figures

S Lol

e J___J
3 3rFhEt | Answer Figures

(1 2 {4)
W) (3 (B)
© (D) (4

{5

i
I

| T S

Ea—

by

T —
P —

questios and two statements numbered |
and If given below it. You have to decide
fvlrcthe-.r the data provided in the
:]t]ftc{ptnts R:rfi st:mcizm o answer the
uestion. Read both the sta
ieoagilig temnents and
Question : How is X related 10 Y 2

'"ﬂﬁﬁﬁ - ;.z.

3.
as:ﬁal.naﬂtmﬂmﬁumi‘lg:

R 7E @ e 2 e wn wer F fan |
Wéﬂmmm%ﬁfmﬁqmg|w§
Fe H eAgEE T 3 T e T
mmwaﬂtaﬁ%h{aﬁqm;@rmﬁ
iR E)
o g FE PA A ? i_
. i R a2
.t B & e R Al fmn fE

e A 2 |
L s, d S e @ e & S |

foran e v w2 | R [0
(A) et I 3T ﬁg&‘ii
@) LpsundawEa e g
(C) =t 1, 13 i':": i
(D) a3

In the following problem, there is one
question and three statements ;

I, Il and LI statements given below the
question. You have to decide whether the
data given ir the stalements is sufficient
to answer the question. Read all the
statements carefully and find which of
the statement/s is/are sufficient 1o answer
the given question : :
Who is the tallest among six children
Pragnesh, Tia, Nilesh, Decpa, Karti and

Ravi ?
I. Kirti is not taller than Tia :Imi[
i

Ismteﬂ_;)t‘llts :

: amd Z are children of Iy wheo is Ravi.
" I:.-fgenfx_ ' B 2 . Ravi is taller than Kirti but not s |
‘ I‘atiemlﬂr A 15 martied to ¥'s tall as Tia. i
iA) Eilherri ; 11l. Pragnesh is taller than Deepa andg
(B) 11 m-ﬁ;e“.f M is sufficient, Nilesh but not as tall as Tia. i
it Sugéc?::f“ﬁm while T alone (A) Only I1 and I1I ;
(C) 1 alone is sufficient whil (B) None from I, Il and 11T !
oy et sufficient Hle Ii alone (C) AL and NI ;
{ cither | nor 1] i sufficient (D) Onlyland !l i
T 13

(73]

e o TS A S B Y Y 1 B TS e

ﬁmﬁﬁaﬁ_ At wmea 8, v W i fm e | 8l

84

e i

-

ofa
ks
fe
3

wF 98 T quET F a w T ave

¥R 1 4 FaiF =2 F9n W F 500

@1 | T8 B F E AECAR F ALkl

¥ &re T 7:00 99 § Tz i A o oodt

=9 e 7y e ?

(A) TFER I 6:30 53

(B) TEAW A 6:00 T3

(C) TFEEWHEE 5:30 ¥4

(D) TFET gag 5:00 94

A watch showed five past five on

Wednesday evening when the cormmect

time was 5:00 p.m. [t loses uniformly,

and was 5 minutes slow after rwo days at

7:00 p.m. When did the watch show the

correct tinre 7

(A) Thursday 6:30 p.m.

(B} Thursday 6:00 p.m.

{C)  Thursday 5:30 a.m.

(D) Thursday 5:00 am.

| TW w7 999 F FEH 9

syrater fodt/wfafem 2 |

Select the answer figure in which the

question figure is hidden/ embedded.
qifa [/ Question Figure

I ATHfeA] /| Answer Figures

=] (&[]

(4) (B (©) (D)

7% § 39 ¥ e fre e ad N S
# ot v & B SR T W T Y
(A) 7 5t fEe

(B} vmsﬁﬁwa

(C) 7"t 5 fime

(D) 7w 55 B

* At what time between 7 and 8 o'clock
will the hands of a clock be in the same
straight line but, nof togethet 7

(A) iﬁ minutes past 7

(B) 52 minutes past 7

(C} 3 minuies pasi 7
() 5.5 minutes past 7

f
O L e —
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(C) Wednesday (D) Thursddy g

#r frg ma TER © 0F T T e E | MR

e D e S L ram——— Lo - o

sl ; e e e

. , . lgg i :

15, Joas @ TR T SRR b ) T s

(a) HEET B) TR j R | F ?“”[Ei

Ec; Loel (D; TN d'!’ ﬁwmmtwmﬁ‘m &
1w ave of the w ek on o

:JT;.J:;j;he day of the we : s - e ﬁgﬁ.’mq ---ﬁi

(A} Mondsy  (B) Tuesday | S = b P e B |

et o

w1 UF F A B F UR gwd ) e |
Tmmg,faazmaﬁ‘mmmi
2 formdf 52 g T A FE T 2 Hra A |
wgﬂ'[rmaxﬁ:fﬁ_mwﬁﬁ‘qaﬂmmi
gﬁmﬁgﬁzmqﬁgw#ﬁﬁ
sy sl |
vhe following question consisis of i
three figwes X, Y m;nszﬁ i!?u:::::éﬂgi
sequence of folding of a piece of paper i

89, Frerfafes wwa 947 FfEi X v sz o)

R T

ﬁrif&fmaﬂirgﬁf%afm-mmmm
Al % = FEn W wis i w9
‘-":?TIFHT%'.

Choose which of the following diagram
represents relabomship among the given
elermnents in a much logical way -

: ! | :
firsed | el %‘{J\r{qg |arﬂﬂe|'='ﬁ?rﬂﬁ'<ﬁ { AT mmg E[gul'e Z shows the manner in which the £
o i wF F owe T fo 2 | . :P'ded paper has been cut. Choose ol @]
foremg] T T HIEY Faﬂafﬂ:‘:; G Ei% Eﬁ Pt : ulfﬁxju‘zbizl:r;njﬁtfg"“]i rescmbles the !§
i & SR a | A i ; 1t figure £ from the four § e ;
e 1 R | | & ofm et 2 “"Sw“ﬁ'?gg‘m given below, i (A) T, v dd m
Fm « ) FiEa st mﬁ;ﬁm% i TEaEA R Trafsparent sheet j (B) e, A, 7=
g By = | g e SR ' : : I
Wgﬁm%mmi (A) i e AR i (C) =, Sermm, 9T
EEaG \ i . 0 o @ i st
i i B e e I ) IR NTgfET / Answer Figures : e i
& ST S B ) I ; :
]:E-I ?ﬂiéﬁﬂﬁﬂ ﬁ:ﬁ'ﬁ%r L et 1’ [ QL o R
(A) WA TG FFEARER | D) et e a L ) (L i R
®; Eﬁﬁm 11 3R F i? | ©) A - ®  (© (D) (C) Cup. glass, dish
(Cy += fosd | IR | The foliowing gquestion consists of one 9. frafaRam A i} g vt 1 :
. T F (D) Vegetable, fr
‘,D:' Iaﬂ‘tilﬁ‘-ﬁmﬁi ! " stgtement followed by two conclusions. ufaFfe w=m & ﬂ'ﬂﬁ ke 1 s i, green
;Tmﬁzmq?;ﬁt;ﬂd h;:n;,.nlimg;ﬁ:;uui Vou have to decide which one of them m! 2 aﬂ?ﬂw B, 7l ok ool = wfafifee
pambered 1 and 11, You have to assums can be followed. B o g 92 (wve) =W ver-se feafadl
;:ﬂl'}ﬂcl-':ﬁs:gﬂ rlhcm!:‘“?;;m :Um::’-'u:i'::; Statement : Only smart and intelligent In the following figure, the circle i INEIME
— 3 represen J
opether and decide which of them people are invited into the conference. wlr;ite, “:: Pﬁq”;i’-‘: the triangle represents The four different positions of dice are
logically follows beyond a reascmable Shakti has been invited to attain the the pentago f‘eprescnts @ bird, and given below :
doubt from the information giver in the conference, R eI 0
statsment ; o o
Statement 1 All the organised persons Conclusions ; Eﬂ ﬂ
find time fof rest. Sunita, in spite of her akti i '“’ y
very busy schedule, finds time for rest. 4Rl = suies. ' ‘ ) (i) {ni) {iv}
IC auct;sic:ns : i I1. Shakai is intelligent, A T
: unita is an organised person. H ! WO 6 % e
lI. Sunita isanindmuup H (A} Either conclusion [ or Il is vali A — 'T e
5 PEFSON. { 15 valid. ﬁ-;q-ﬁﬁf%ﬁ ﬁ. £ . i
{A) Either [ or T follows, i (B) Oml his ) ] =1 T A iﬁ’fﬂ et § Which nuraber is on the face ODpOsit
(B Oty cometashon 1 sl i y conclusion 11 is valid, %1 viafifim et 29 67 R o
(C} Only conclusion | follows, I (C} Onlyconclusion I is valj Which of the following number A
Tt ws, ! ks ion 1 is valid, a female white bird 7 number represents {CJ i By 2
— sl oth the conclusions are valid. 20 ek B)3 (55 (D)W | Gl ) Dy 4
14 g & — oe
) i5 e
Mnis

1



RSP 8 6 1 9
gs Frerfirfiyn wa & o e o ek gl 194 ﬁmmwmmmmm%ﬁﬁ“ H
1 3 i fon e | ! mfg éfgmw“gééé
e o I T ok UE 74 i i il ;
NS | o @ e AEED Lok
| 3 e i v 4
o b g () T AR T J
m:mgpﬂﬂaézﬁ!{[ﬁhﬁ; ot qufqmﬁawﬁm
, (e A w A F d W
=y i i
; fiyrel 1 1 A 1 HHA T E
=N { (1) &, a8 T dER R
Pot 27 @ el FYH & forn SRy
1 g TR e & s R F T i v A |
i (A) AR IMLITER |
0 T R VR & A AN A | (B) T F=m llwFgAD!
b (C) T I g |
(a) mampaa ) RIAshadnEEEE
}E; ihc q;istiun given below ﬁtate!"r‘ltnl is
T T swed By twa arguments 1 and 1. You
(B) FT T A E i have to decide wivich of the arguments is
‘ . i a ‘strong’ argument :
(0 FFR A (A R i Statement : Should a cricket 1cam have
) mare than ooe captein during a match 7
() FA(daADTIEE Arguments :
(fj No, one needs to make decisions
The following question consists of a fgn te spot gl there won 1t be time
resolve  conflicting  ideas
srarement followed by two arguments | be't:]:een thie captains an the field if
: ; i f such a scenario emerges,
and L. 'r’m.:l have to decide which of the () Yes, it is always hgtse.r to Isve
arguments is a STRONG argument : ; more  brzes  coming o an
: understanding  before taking a
Statement : Should sew big industries | (A) l‘;‘;".’“‘-"”- ; :
be szarted in Mumbai 7 F §: 4] lf;‘?ﬁllj?;ﬂ;;;rm&
{C} Ifonly I is stromy.
Arguments ; (D) Trpeither ITnor 1l s strong.
I Yes. K will crealr job 95. UE A W It fiweadl i -
WAl ™
OPPOTTUNITIES. aﬁ. ;?:ﬁ H@i f:?ﬂﬂ;{a'@*m EAEEul:
R g
il. Mo, It will further add to the o ag Hgg{ HIET %gm%ﬂ%‘ﬁ
pollution of the city. TAE | W den g Hifam
(A} Either [or Il is strong. A cube is painted plye
. surfaces and black oot VO adjacent
(8} Only argument if is strong, apposite 10 blye surfaen. the surfaces
_ the remaining faes, N 20d green on
L) Chndy argumnert 1 is strong. ‘E ;‘_n!m 214 smaffer C‘ubct;“ the gu is cuf
o i Dind the mumber op of €qual sizes.
(D) Neither [ mar 1 is strong, ! {SM o painied, Lbes” with 1o
— i 2 (Bj4g
MM ;ﬁ —— (C) 58 ﬂ”_)]ﬁc;
h""""—«-«.-—--.....,-—.-—-
i

_-L_

94,

fadn

Direcrion : {Q. 97-99) Six people Arundhati,

i wd g o fagat ) Hen 7 R | o8,
Find the number of triangle in ihe given |

figure.

e 3 s e g

(B) 18 (C}12

(A 22

mﬁzﬂn,q%mahwﬁmgﬁ%mwﬁ;
seett A & 30T S OF A 0 6w ]
7w fFu | i
@ F7R1 & & 101, 102, 103, {04, 105 ¢
i 106 (avd @ zrd) # ot vl =afes =
wE-uF w0 fire 2
ﬁuﬁm#:ﬁﬁﬁmaﬁﬁw”
FRATHR |

A%, 2T % e o A A w2 )
<ifamn s a0 HET 106 78 e T d |

A i

Bajaj, Charu, Devesh, Efina and Fatima
go for a vacation to Italy and they book & §
rooms in a kotel, §
There are six rooms numbered 101, 102,
103, 004, 105 and 106 {from fcft to
right) and each person gels one room
each.

Arundhati is not in the room tmmediately
to the lefi or immediately to the right of
Bajaj. :
Chary i In a room immediately to the
left of Devesh's room.

Fatima has not been allotted room

ninmber 106,

o E () 10l (o)
| I

(¥R §7-99) TE A rraty, 7973, | g,

1040,

S e B e Pt ] o B o S e T et

afy 28w =0 d@@n 105 § 3, @ T 6

T G R 7
If Devesh is in reom number 105, wkat
a

is the room number of Charu

(&) 103 (B) 102
104

of T W % A B gE A R
srpafy fem amy e § w2 e

(A) 164 (B)
(Cp 105 (D) 39EiA =

If Bajaj is in room aumber second to the
left of Charu, in which robm number
does Arundhati siay 7

(A) o4

(By 104

(C) 105
(D1 Insufficient Data

frferfan e wem #1 w2 S ST
FETHR W9 T I AR ¢
ABCDEFGHIJKLMNOPRS

TUYWXYZ
@ s i A o A e ot & @ @

il A EE |

The following series is provided and you
need o answer the guestion accordingly
ABCDEFGHIJKLMNOPRS

97, I A |y g wE@w w7
(A} 104 (B) 103 . TUVWXYZ
1":_21:[ 101 (I aﬂﬂTﬂ T i ; in thig serics find the letter which is fifth
lm;ﬂfml:::ﬁ bg::n allotted with whie ’ 5 e il o che thirtesntl Tatter fbm:
(A} 104 i your right.
By 103
:C: 0] 5 (A} H (By |
(D} Insufficient Data i () M o
& 17 MM3
\ A
e = T o
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= i""_'__,.-....r.--lo-'-—‘" --------- ——
T T T T T bt 3
T A / General Awareness a3 e .
PR o e 5 R et
i 1 w4 & I ; M F o : 2 nHE N = & & frm =
(A) T T8 | AR tER? Sy T e e S
(B) T ud un ¥ iz (B) TN il { o 72 W faw e 2
©) 3w ﬁ i (A} _ ; (A) T B) = - ! (A) wma (B) =H -
) %“'Fn'?‘aé Gl i (C) EwEE (B e iCy  HteT AN : (C) *® (D) HSH
i‘\-[')"ll':-:h ELiC m?zl;rﬁ?m: . In which mgmﬁa““;“ﬂih!’m of the Union H}lm '\-i'mj T f {i[:a:'h'f M",I!FE Fﬂl%’mr{ng countries maore
among of the Tiowi ional atmosplere, 3 presemt o . Mmaster Amg i L mullion 10 vaccl
?:r}ks iFE- also f\. liger rcs:{:w'lei.'mg i : protect us againist hﬂ'}'g‘" UV-Ultra Viclet "-"-'"Ch:g th{:;l';zl‘r. Ciry pmj.;,.*,.?1 I;tn “S}’::i: i ?:;lﬂ'ﬂ :L‘: a:trm:! v[oig;%;.‘;e 'g:”cmes -
anna Nzitonal Park rays " Among e Wing cifies ' X ~ . uss
(B) Nandadevi gli:ljn:;'al Park I% (A) Mesosphere (B) Stratosphere {A} Bengaluru '"g{g"“f : H i) I)Dg Sndan
{C) Hemis National Park i (C) Troposphere (D} Thermosphere (C) Dijapuw D} Udupi : 114. F=fafia § & & TR Y TS B H
(D) Keoladeo Ghana National Park 106, f—:\mzqﬁfnﬁ Bz 7= & To form wam 10 2 (D) Belgaum i Azome, dEs R FAEgH DEEE gm
102, “eide” A win ave B dwd w90 | % a1 T A 7 - - 30 (Rl 5 %qmm;? e % fom ad 202223
Exib ikl eSS e P (A) wmeemees (B) Ao clae il g sicike Fol 8 e -ﬁhm‘ﬁ Hﬂ*ﬁ T & o
fais o T I s Sm s mmw | O ade (D) WEEEAESR AR« (®) e | (A) dcaeeseRY T foban 2
3, Prefefgn i : (€) ¥ 3 J mﬁ?ﬁwﬁw R
B, igmammaEai? Which type of lens is used Lo correct near Wh . (D) <eug (B) = ssrti%’aw‘ Z Rsony
(A) B . B) I 5 ? here is the first 3D-prinied (Thr i) T wgeTE el
l{C‘] e (D) S {A) Plano-convex lens gmm“ﬁm}post Oﬁ';cr: i:; Im;'; 'rDi %m mﬁmﬁvﬁ%m
Kadremukh” which i the thd wllestpeakof £ (C) ooty (A) Anmedabag TURE of e i S
Kamataka state situaied in Chikkamagaluru | (C) Convex lens ok d {B) Hyderabad bagged “The Sagar | P has recently
ﬂzfsmc:. this p:lii[:u!a; peak is having shape (D) Piano-concave lens ) Bengaluru (D) Dehradun iwards" for the bi“:ﬂ«m&?ﬂf’fﬁﬁam
ore animal’s face, whi L ) ] e 3 ;
Sl i Sk il ok Jete 1. | R, freferfign # & foem va 4, faw %1 wm 111. = fiam 5 o= o § =2 fean 3w the rghes: car g s handling
(A) Elephamt (B} Lion i g TR IR “Fggel wEA tfmmam . Shipping and Waterways 2 of Ports,
(C) Horse (D) Deer ﬁ:}@ N (Keibul Lamjao National (A TR & Tl Ezmi:ya‘a Port Authority, Kandla,
4 ? *%a} . s
103. m‘ﬂgﬁ faefefaa 3 & fem = (A) 3m ' ® R (C) owgm ) === E {B) ::"sghakhapamam Port Authon
< - ) E ; 10ty
(A) WEEm  (B) \C) ¥em (D) - Luminous Intensity is cxpressed in a unit (€ Paradip Port Auborisy, 04 B
(€ “ﬁﬁﬁ 3 Bv In v-l']uch of the following states, W arld's A) T* : D) Kochin Port Auth rity, Odisha
! : (D Bn]}_ﬂmlng Nﬂhtm:]le]’ark ™« eibul esla (B) Candela oriry, Kerala
With which of the following art forms Lamjao National Park” is situated ? (C) Asgstrom (D) Newton 1s. B i Samim o
Mrinalivy Sarabhai was associated ? {A) Assam (B) Manipur 12 Pefafeaia IR SR e 0, TR %1 3
(A) Bharamatyam (B) ~Kathakaly (C) Meghalaya (D) Sikkim [ P wefta i it & (A) SR T 2
©) Mmiperi (D) Odissi 108, %ﬁﬁaﬁm § & Fm Wi A 3 @0 - gt (EURE) ¥ = § € Trd ®) =& .
104, firfin g T uiew, @ @A 7§ T mmflm%mwm =wh? ; Which among the (Pfl m
aE R Fa i EmE mﬁﬂgﬁ“ﬁmﬁmﬁi:ﬂ?m sHF ?;: FERIeHIA 3 2R = R, became the first Cnu:u-:tns countries
A : ? :ﬂm‘glﬂaﬁ'ﬁm H and b : wmport C0,
i mfag:im 55 i (a) T =i (8) o, AT © e P Norway 1 ]
';r? o= (D) TR E.E%‘Iﬂﬂailm (D) wz TATE % i # C) Denmark 8% fé'ﬂli
wﬂiﬁ muli:: Buddhist Cave complex, m;;gﬁ;'“mﬂ the following a7 Dil e 16. M i firmm mmfﬁmman
e, e - caves have been i has won a Nobel wrige for DS - ute aqueous solution of which am T 9 3N NAFED
o vﬁﬁ,?smm kil 9 Sk on theoretical ) ke g f;?!bg1ng is used as a weak ms.,;.“nf ’;E‘mmmﬁaﬁ #2 (MEC)' =g
(B} Maha radesh ek L es 08 Eupociagce. 2 the P (A) 3
; Maharashira e and evolution tPO a {A) Mixiure of chloroxy {B) wag
(C) Bihar (A} Homi Jahangi of the stars - terpinect roxylenol ang i) s } ey
(D} Wadh ! {B) DrC 2ir Bhabha (B) T - Where was ;_; D) 73 fweht
. adhya Pradesh © < V. Raman weture of lodine Centre e first “Millets Fxperi
i, | {5 S Chandrashekh (C) Boric Acid i Centre (MEC) launched by the Moy
- ) e {0} Satyendra Nath . (D) Sulphur Dioxi NAFFulure & Farme; Y e o |
18 —. 2T Nath Bose - - ur Dioxide ) Ei? ’ ts Welfare an
@ ' - i (C medabad (B} Mumbai
= s Lucknow () New Delhi
MM3




RTNDIE = o T e Fa @ wrE

117, snfem 3 fefarea ﬂé%ﬂﬁﬁ;im- W%ﬁgiﬁrﬂm?"m """" e e _

il e B Ry TR T S :M JTETaE mﬁﬁﬁﬂ‘ﬁaﬁ ) 126. Frrfifrn st 3 & 2 o vrm o o | R
o *fiffemam T Fig R i ® o (sea fod - T TR A oo e b o @R {131 WE § “yar v e e d
(A) TR (B) WeRMTRIe © gﬂ(mﬁﬁ*ﬂaﬁ qre) . Foi T fioy 2 2 o 3 TF AW 9 T F T A R | am P
(C) " (D) T : {D S : (A} oo . (B) ! el 2 frg ad s vat o

Which among the following districts of i w’[ajch of the followilg instiutions p%bhsh“ (C} =gt Dy 3 - “Pravasi Bharativa Divas” is celebrated
Odisha, launched “Nirikhyana app” 10 ¢ TFinancia Stability B ofindia ? Which among the n.:} S in India_on 9" January once every two
wack condition of P‘I‘Eg‘ﬂﬂl womet: 7 : A) M{F‘mwﬁ‘ﬂmﬁﬁﬁ% Fund) 2"}" largest %’“h“sattrnllagkl;ake?' is the ﬁﬁlall::ﬁi:; Ellahs?da}f first was observed in
(A) Ganjam (By Malkangiri § B Esg',ﬂ::riiics and Exchange “A"thﬁ siuated in Jammuy & Kaghm?rsf,al % 2:503 ! e i

(C) Ravagads (D) Bargeh s (C %%Eld éflcndia} %{,{ Ka'f_,l;_'a’r gg) Pulicat - C; 2014 - h)ﬂ 533§

- o | ) Dal &

18, ¥ # F R s HEs % ﬁ‘%mu NITI Aayog 127, Bofefan & 4 frg . {132 e @ e forfRe - e, st
e 3 e B 64 6 UK |13 iy e 3901 8 fant 8 e Sy P T WM | TR A et (ILMIT) e §
e, Frferfiam A @ mﬁﬂwﬁﬁﬁﬂ i miEe ) W ﬁwrﬁl , T (A) W " férR ST w2ty fov £ 2
ﬂwﬁmmmwﬁ F 4 wssﬁf;:iﬁ’lﬁﬁ gt ¥ & fFm w (C) wheam s u}'; :;3’ Egj oy 2w A, AT

A) TEW (B) i TR? At whj ot Sk ) CEEER Suee (g i g
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